AB2 Answers to Exercises and Chapter Tests

65. Maximum value [.76 when x = 0.94, minitoum value
—1.76 when x = —0.94 {The same maximum and minirum
values occur at infinitely many other values of x.)

66, Maximum value 6.97 when x = 5.24, minimum value
—0.68 when x =~ 1,05 (The same maximum and minimum
values occur at infinitely many other values of x.)

67, Maximum value 3.00 when x =1.57, minimum value
—1.00 when x = —1.57 {The same maximum and minimum
values occur at infinitely many other values of x.}

68. Maxinmm value 0.58 when x = 5.76 {exact value is

x = 114/6; Minimum value ~0,58 when x == 3.67 (exacl value
isx= '?11'/6) (The same maximum and minimum values occur
at infinitely many other values of x.)

69. 1.16 70. 1.11 71 034,280 72. 0.74

73, (@) Odd (b) O, =2, T4, 26w, ...

© ) {d) f(x} approaches 0

(e} f{x} approaches 0

74. (a) Even .

(b) 0, =7 fd, £20rf4, £3wf4, . ..

{©) 25 (@) f(x) approaches 0
{e) f{x) approaches 2

75. (@) 20s (b) 6 ft
76. (a) 255 (b) 440 (© ¥
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Answers to Section &3
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Answers to Section %8 AG65

56. (a) $(2) = 10.39 1, S(8) = 3.46 f1, S{113) = 91.54 f, 7. {a) 5,37, 1J(37) B
S(12) is undefined i
b))

(© 3,9;9:00 AM., 3:00 pMm.

(@) The shadow gets increasingly longer. 8. (@) 1.6, 2w, 1/27) (®) »
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o = ¢ 1 \/ 9. y=10 sin(—s—r) 10. y=24sin(ne) 1L y = 6sin(l0)
] 12. y = 1.2sin{m1} 13. y = 60cos(dmr) 14. y =35 cos(lars)
-2t 15, y = 24 cos(1500ar1} 16, y = 6.25 cos{1204) 5
_ : 17. (@) y=2¢""Ycos 6wt (b) ¥
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6. (a) 3, 10m, 1/(10=) (b) 74




